MATERIAL CODES:

00: 28% CHROME IRON
LA Y Y. 01: 316 55

02: CDAMCuN

weIsuvan 03: ALLOY 20
n (TN 2 s+ N 2 ¥ o 04: HASTELLOY C

05: 2205 DUPLEX STAINLESS STEEL
NLEN NN §F O

06: 2507 SUPER DUPLEX STAINLESS STEEL
www.vulcanpumps.com

07: 17-4PH ASTM A564 Gr.630

VULCAN PUMPS - HDS 200L-O (HIGH CHROME WET END / LOW PRESSURE HYDRAULIC / 8 INCH DISCHARGE / OPEN SUCTION)

ITEM | ITEM ITEM PART NUMBER Qry. DESCRIPTION EXT. DESC.1 us STANDARD MTL. DWG. #
701 LIQUID END 375mm IMP HDS 200L HIGH CHROME
100 100.1228.03009.XX 1 CASING VOLUTE HDS 200L A532CLIITP. A D1012
200 200.1228.03039.XX 1 IMPELLER RH, 5V, 375mm VTD RH, 5V, 14.75" VTD A532CLIITP. A C1042
009 009.1228.03091.XX 1 COVER SUCTION HDS 200L A532CLIITP. A D1068
040 040.2229.03215.XX 1 DEFLECTOR IMPELLER FRAME 320TY / 360TYS ASTM A276 TYPE 316 B1109
233 233.1051.03069.XX 1 STAND PUMP HDS 200L ASTM A276 TYPE 316 C1396
032 032.2228.03265.XX 1 KEY DRIVE FRAME 320TY / 360TYS ASTM A564 Gr.630 (17-4 PH) B1120
901.1 901.2334.03285.XX 8 FASTENER SCREW 5/8"-11 X 2-1/4" SHCS 316SS/A4/70
901.2 901.2334.03307.XX 8 FASTENER SCREW 5/8"-11 X 3" SHCS 316SS/A4/70
901.3 901.2255.03297.XX 1 FASTENER SCREW 3/4"-10 X 2.50" ASTM A564 Gr.630 (17-4 PH)
901.4 901.2334.03293.XX 16 FASTENER WASHER 5/8" LOCKWASHER 316SS/A4/70
903.1 903.2000.03344 1 KIT, GASKET FRAME 320TY / 360TYS PTFE
073.1 1 GASKET IMPELLER FRAME 320TY / 360TYS PTFE B1123
073.2 1 GASKET DEFLECTOR FRAME 320TY / 360TYS PTFE B1126
903.2 903.2000.03354 1 KIT, GASKET HDS 200L PTFE
073.3 4 GASKET SUCTION HDS 200L PTFE B1130
202 071.2259.03189.XX 1 ADAPTER-CAP SHAFT FRAME 320TY / 360TYS ASTM A564 Gr.630 (17-4 PH) B1136
904.1 904.2000.03387 1 KIT, O-RING VITON
104.1 1 O-RING 18x2 VITON
104.2 1 O-RING 80x3 VITON

Document A1198 (Rev. 4) Date 2-23-22




e [ ]
T 1 o TN B

waIIrvan

, N Y B M

PRI TR i

www.vulcanpumps.com

WET END PARTS - BOM
HDS 200L-0 (OPEN SUCTION)

DRAWING NBR.: A1198 REV.: 4

EFFECTIVE DATE : 2-25-22




	A1198 (Rev4) HDS 200L-O
	DWG. A1198 HDS Rev 4 200L-O.pdf
	HDS 200L-O Breakdown.pdf
	Keystone 200L BOM's
	707.2000.03615

	A1198 DWG





